Accessories

No
Diagram
Available

Parts List
Only



41207-46 SILVER EAGLE 15 RT 03/95 to 05/96 IPL 46802-24 Page 2 of 4
Accessories

Ref # Part Number Qty Description
300160-33 Stringhead Assembly
300159-33 Line on Spool

300339-33 Knob Assembly



41207-46 SILVER EAGLE 15 RT 03/95 to 05/96 IPL 46802-24 Page 30f 4
Electric String Trimmer

1f
o
~J

\‘

10



41207-46 SILVER EAGLE 15 RT 03/95 to 05/96 IPL 46802-24

Electric String Trimmer

Ref # Part Number Qty Description

1 300834-00 1 HANDLE ASSEMBLY Distributor
2 09075-99 1 BOLT 1/4-20 X 2.5 Factory

3 13035-99 1 NUT 1/4 - 20 Factory

4 322719-00 1 KNOB Distributor

5 37106-10 1 ASSIST HANDLE / CAP ASSY Factory
6 32304-96 1 SHIELD ASSEMBLY - 15" Factory
7 218083 1 SCREW 10-24 X 2.0 Distributor

8 1 WASHER #10 FLAT

9 218315 1 NUT 10-24 Dealer

10 300651 1 STRINGHEAD ASSEMBLY Dealer
11 322025 1 HOUSING /EYELET ASSY Dealer
12 322626 1 SPRING Dealer

13 225078-01 1 SPOOL WI/LINE (.095) Dealer

14 300736 1 KNOB ASSEMBLY Dealer

15 322344 1 STRINGHEAD WRENCH Tool

Page 4 of 4



